
ASSIGNMENT 24 

STD IV                        MATHEMATICS 

CHAPTER 9                  FRACTIONS 

Do the following assignment in your Maths copy. 

1. Add the following : 

 Eg.       ଵଶ

ଶସ
  +  ଵ଼

ଶସ
  +  ଵ଴

ଶସ
 

 Solu:   ଵଶ ା  ଵ଼ ା  ଵ଴

ଶସ
 

          =  ସ଴ 

ଶସ 
 

          =  ସ଴  ÷  ଶ

ଶସ  ÷  ଶ
 

          =  ଶ଴  ÷  ଶ

ଵଶ  ÷  ଶ
 

          =  ଵ଴  ÷  ଶ

଺  ÷  ଶ
 

          =  ହ
ଷ
 

          =  1ଶ

ଷ
 

a)   ଵଵ

ଵଷ
   +   ଵ଴

ଵଷ
 

b)   ଻

ସଵ
   +   ଶଵ

ସଵ
 

c)   ଵ଴

ସଷ
    +    ଵସ

ସଷ
    +    ଶ଼

ସଷ
 

 



2. Fill in the blanks : 

Eg.     ଼

ଵଵ
   +  __

ଵଵ
   +  ଵ

ଵଵ
   =   ଵ଴

ଵଵ

 

           ଼

ଵଵ
  +  ଵ

ଵଵ
  =  ଼ାଵ

ଵଵ
  =  ଽ

ଵଵ
 

           ଵ଴

ଵଵ
  -  ଽ

ଵଵ
  =  ଵ଴ିଽ

ଵଵ
  =  ଵ

ଵଵ
 

           Ans.  1 

a)   ସ

ଵ଴
  +  __

ଵ଴
  =   ଽ

ଵ଴
 

b)   ଶଷ

ହସ
  +   ଽ

ହସ
  +   __

ହସ
   =   ସ଼

ହସ
 

3. Add the following : 

Eg.    ଵ
ଷ
   +   ଷ

ହ
   +   ଻

ଵଶ
                              ROUGH 

    L.C.M of  3 , 5 and 12                3  3         5  5        2  12       

                         = 60                             1             1        2    6 
ଵ

ଷ
  =  ଵ௑ଶ଴

ଷ௑ଶ଴
  =  ଶ଴

଺଴
                                                              3    3                                                                 

ଷ

ହ
  =  ଷ௑ଵଶ

ହ௑ଵଶ
  =  ଷ଺

଺଴
                                                                   1                                          

଻

ଵଶ
 = ଻௑ହ

ଵଶ௑ହ
   =  ଷହ

଺଴
                                 3  = 3X1                                                                               

                                                            5   =  5X1 

                                                          12  =  2X2X3X1 = ଶ X 3    

                                                      L.C.M = 2 X 2 X 3 X 5 = 60 



ଶ଴

଺଴
    +   ଷ଺

଺଴
    +   ଷହ

଺଴
                                                                                                            

=  ଶ଴ ା  ଷ଺ ା  ଷହ

଺଴
      

=  ଽଵ

଺଴
                                                                                                                                   

=  1 ଷଵ

଺଴
                                                                                                                                  

a)   ଵ
ଶ
    +    ସ

ହ
     +    ଷ

ଵହ
      

b)  ଵ
ଶ
     +    ଷ

ହ
     +    ଷ

ସ
           

c)  ଶ
ଷ
     +    ସ

ହ
      +   ହ

଺
        

                                                                                                                           

 

 


